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Question 1

Find the vertical and horizontal asymptotes of f('L) )

@ bf00=0 Qundi=o®

a) vertical asvmptote: 2 = 41 ; horizontal asymptote: y = 1. )(?”N b)
b) . vertical asymptote: ¢ = £1 ; horizontal asymptote: y — 0 . 7 '-O (hl)h%"\m))
)
c) vertical asymptote: £ — +1 ; no horizontal asymptote. ——
d)

d) vertical asymptote: = 0 ; horizontal asymptote: y — +1 3&
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e) . no vertical asymptote; horizontal asymptote: y =
Question 2

/’E
Find the vertical and horizontal asymptates of f(z) = 3V

> xX=%b o

(Vextital .. )
b) vertical asymptote: 2@ = %36; horizontal asymptote: y = 3. )

. U E (X) =0 c)
c) _ vertical asymptote: & — 36; horizontal asymptote: y — 0.
X7

a) _ vertical asymptote: £ = 0); no horizontal asymptote.

d) _ no vertical asymptote; horizontal asymptote: y =

X5 -\

Determine w hethcr or not the graph of f(.

. ";%[}-—“O m(.hﬁh-gﬂ,ﬂﬁ)

Question 3
=~ e Find the vertical and horizontal asymptotes of f(l:) =
= ¥=%1, (Vertital, )

.\ﬁ_____\_\ .

. vertical asymptote: z = (; horizontal asymptote: y = +1.

) 3r
_ vertical asymptote: ¥ — —

Determine whether or not the graph of f(z) — 2(z — 4)*"

m ‘{_ (ﬁ'ﬁ) =0 tangent or vertical cusp atx = 4.
Chack 1%y at < =4 1 f’

_- vertical tangent =5

_* both
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vertical asymptote: £ = 0; horizontal asymptote: y = i

= SHW=—{
6 sin(z) + 3
sin(x) +1

X= Bgﬂhﬂ
(Vertiaal)

QM@ =

3T
- vertical asymptote: £ = 7 + 27n; horizontal asymptote y = 1\(‘?

3
vertical asymptote: T = —2“ + 27n; no horizontal asymptote.

no vertical asymptote; horizontal asymptote: y — =1.

5 + 2mm; horizontal asymptote: y — 0.
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Question 4

has a vertical
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tangent or vertical cusp at & — 0.

a) neither

b) . vertical cusp

c) both
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d) vertical tangent

Question 6

Determine whether or not the qlaph of f(x) = 8 — (6 — )" has a vertical

tangent or vertical cusp at © = 6.

i =10 S0

a) . vertical cusp xa‘g_
b) - both ?> V QN-CKQ&\ _%mw .
c) neither
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d) . vertical tangent

Question 7

Determine whether or not the graph of f(z) = 9x\/z — 8 has a vertical
tangent or vertical cusp at ¢ — 8.

a) - vertical cusp
b) vertical tangent

c) neither
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Which of the following is true about the graph of f(z) = 822 + = — 4»
e

a) f(z) is increasing on the interval (—oc, U)X%Q‘li \ DQ)
X2 Vertital OMSP o X=%

b) f(z) has a vertical asymptote at & — 2.

©) f(z) is concave down on the interval {0, 20) ><§ (» { O>

\
d) - f(z) has a point of inflection at the point {0, — >< ._7 L@ 1 ‘}'(‘j'zj
%
1
e) f{z) has a local mmimum at the point 3 ,2 1.
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Which of the followmg is true ahout the graph of flz) =« ~sin{22)

on the interval 0 7}? me Po‘m— *F/Q(')_O >CD§(2X)—~~
> 2x =21 A 5 x=1,

a) .- f(z) has a point of inflection at the point {0, %

b) f(z) is decreasing on the interval (0, lﬂ).x (—éL( 2-31 )

/
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d) . f(z) is concave up on the interval (0. %) >< L "'il \T)

potie- Dﬂ‘ Inflection 'F()O =0 5l the) =0
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Question 9

zT

3

T V3
¢) - f() has a local maximum at the point (,—; '3 5+ 4).
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e) f(z) is increasing on the interval (l; , 2%) >< ( 0 1:’;:_> U Q_Z%[Zl "”‘ )

Question 10 /
The graph of f ,('.L‘) is shown helow. Which of the following could represent /
the graph of f(z)? /
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